Greek 1A AaronP

Demonstrative Pronouns

Again, these forms are built upon the endings of noun declensions. Add t in gen. dat.
and acc. (cf. articles 0, 1), t6). Accents fall on the penult. This distinguishes altn
(fem. demonstrative pronoun) from «:0tr (3rd fem. personal pronoun).

"This" Masculine Feminine Neuter
Sing. PI. Sing. PI. Sing. PI.
Nom. olto¢ —oL oaltn -l tolto  todte
Gen. -0V TOUTWV -n¢  TolTwY -0V TOUTWV
Dat. —w  —O0LC - —0Lg —»  —0LC
Acc. -V —0UC - —g -0 toDTor
"That" Masculine Feminine Neuter
Sing. PI. Sing. PI. Sing. PI.
Nom. ékelvoc —otL ékelvn —oL €keELvo —
Gen. —-0U  —WV g —wv —0U -V
Dat. —w  —O0LC - —0LGg —»  —O0LC
AcC. -V —0uC -nv -G -0 -

Three Uses of personal pronoun adtdg: emphatic, intensive and identical

1. Emphatic: "1, you, he, she, it" in the nominative case. This use is redundant in that
verbal inflections are sufficient to indicate the person and the number. So, it is used
when emphasis is intended. E.g., éyo Aéyw, adtog 8¢ olk dkoveL.

2. Intensive: "-self, -selves"--- with (Dnouns, @personal pronouns and (3unexpressed
subject in the predicate position.
@D adtog 6 abBpwmoc (the person/man himself)
a0TN 1 adeAdn) (the sister herself)
«0to to épyov (the work itself)
*00TO TO TVEDUK CULMOPTUPEL TG TVeVUaTL MUV 0TL €oper tékva Beod (Rom 8:16)
@ adtal Uuelg drodete TOV Adyov.
@ abtog (Eyw) &w v Eovoiav. (Question: Any difference btw this use and
emphatic use?)
0 olTOg éxel TNy €ovoiay (He has...)
0 &yw &w v €ovolav (1 have...)
o altoc/adtn €éxw TNy €ovalav (I myself have...)

3. Identical: "same"--- in the attributive position (i.e., btw an article and a noun)
0 altog abbpwrog (the same person/man)
N abtn adeAdr (the same sister)
10 00TO épyov (the same work)

**|f used in the attributive position, can «0toc appear without noun—i.e.,
substantive use? Of course! E.g., miotetete to adta; (Do you [pl.] believe the same
[things]?)
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